SECTION 3.3
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RCISES FOR SECTION 3.3

2

X
x+1

8. Alx} = 27x — &3

6. y=

4
Ly =x+-
10, y = x .

e)'cises 11-32, find the critical numbers of f (if any). Find
pen intervals on which the function is increasing or

1) =2 6x

12. fx) = x2 + 8x + 10

14, flx) = —(x* + 8x + 12)
16. flx) = x* — 6x* + 15
18, f(x) = {x + 2%(x — 1)

20. f(x) = x* — 32x + 4

22, f(x) = 3 — 4
24, f(x) = (x — 1)?
2. f(x) = |x + 3| — 1

X
28. flx) = P
30, f(x) = xjf
X -3x -4
32. flx) = T =2
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M-y even

es =10, identify the open infervals on which the func- @% In Exercises 33-36, consider the function on the interval (0, 247).

E% In Exercises 37-40, (a) use a computer algebra system to

. Think About Jt Tn Exercises 43-48, the ‘graph of f is

U—U prye (R~ 187

Find the open intervals on which the function is increasing or
decreasing and locate all relative extrema. Use a graphing utility
to confirm your results.

33 flx) = % +-cos x 34. f{x) = sinxcos x

sin x
1+ cos?x

35, f(x) = sinx + sinx 36, f(x) =

differentinte the function, (b) sketch the graphs of f and f/on the
same set of coordinate axes over the indicated interval, (c) find
the critical numbers of £ in the open interval, dnd (d) find the
interval(s) on which f” is positive and the interval(s} on whicjn it
is negative. Compare the behavior of f and the sign of £

37. f(x) = 2x/9 — x%[-3,3]
38. f(x) = 10{5 — V4% = 3z + 16), [0, 5]

40. f(x) =

X

39, f(n) = 2sint, [0, 27] 3

+ cos %, [ 4]

In Exercises 41 and 42, use symmeiry, cxtrema, and zeros to
sketch the graph of f. How do the functions f and g differ?
Explain. . . -

x5 — 4x% A+ 3x
W foy=—g—7 >

42, () = cos?t — sin? ¢,

g9 = ¥ = 3)
g(t) =1 —2gin*s, [—2,2)

shown in the figure. Sketch a graph of the derivative of f. To o
print an enlarged copy of the graph, go to the website C
www.mathgraphs.com.
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